i)l

FiLigi E 5

oA K EAERE—E

R3 2@HE (11A)

No | wEr& |IEwETH S REUE = T oo | son
DRI S P

1 IHZthm @R KRB 7.3 2.3 1.6
2 IBEtm |[Fit)Il ATEE 7.2 8.9 1.1
3 IHZthm [ KES 76 1.0K5H 0.6
4 IBggithm AR F4BEEE 7.4 49 0.8
5 BEthi BRI EAEE 7.4 33 0.6
6 IHKET [BMI EBE 6.9 4.0 3.6
7 . IB;mKET | EFE)I &EE 7.3 2.9 1.6
g | Bt [RykEr B2 THE 8.0 15.0 13
9 RTINS IERES T 6.8 1.2 1.3
10 UBLHET  [HR) SE1E 7.4 1.4 0.5
11 |E’L.:|_,\"‘ I:Iu_,\“l yﬁ# E 7.3 10*;% osi;ﬁ
12 HRER  |[&F) SiEE 75 40 0.5
13 IBREER |[XE) HLE 7.6 3.1 0.9
14 IHMEER | REI EXEB 75 46 0.9
15 [BEEH | —Bek)l INEES 7.5 1.6 0.8
16 o2 ET k/im BOEXYTH

17 ’ RiZHT  |FIR 7.9 50 35
18 | accqr [IBESSHAT LS 16 1.7 26
19 ST HASE BRI 76 22 15
IR - (EHEARE |ZHII 7.8 14 1.0
21 | gkmr) EHBAEL | FEHI 74 1.3 0.7
22 [HHEARET )il 7.7 2.1 1.3
23 IHEAXRE |FEE 7.7 1.0K% 0.6
24 IHEEARHET | KEF)IE 78 15 0.5
25 [BEEART [F0iE 7.9 3.1 2.1
26 IHZEEHT  |*FHB 79 1.0FK & 0.6
27 EEE T 7.9 1.0Ki% 1.7
28 IBEEJLET  [BI)IIAE 7.7 1.0k | 0.5KH
29 IWEE™ [IBEEJLET  [$TOTE(BEIID 7.6 1.0K#% 0.9
30 IHEEdLE]  [=5745 7.7 3.5 0.6
31 [HEERET |=/8I4E 7.4 1.6 1.7
32 [HEERE] | &ERE 7.6 23 1.2
33 BEERET  [HEHE _ 75 24 0.8
34 IBWESR [SHIIGHEE) 79 1.3 1.2
35 HLgeTT  |3ith)I| (KIEHS) 7.7 1.7 0.8
36 IHES™  [EWFIGEEID 18 9.0 1.4
37 BELZT |BERI(EHE) 76 6.1 1.5
38 IBESZ™T [ KREJEFTHL 7.8 43 1.0
39 IHES™ |/ FHEMCME) 8.2 1.0Ki% 1.8
40 IBE£ZH [ZE)IITHL 7.9 1.7 1.2
41 IBE4m  [ILOJIETHL 7.8 1.0 1.2
42 IBE£Z™ [EJIFTHL 8.0 1.0K5H 1.5
43 IHE&T maykm (CKEFIE) 7.9 3.6 0.9
45 IHEEHET |["E E 8.9 14.0 47
46 [HiEEE i8558 8.0 13.0 1.9
47 IH{SEAET  |& A L)) 78 1.0%K% 0.8
48 IBSBABT 17K (ATEREB) 79 11.0 2.0
49 IR{SBART | SR 7.1 3.5 2.6
50 IBXKET Bl 7.3 48 1.3
51 IHXRIKET | & #3)I 7.6 1.0 1.1
52 FESEE= 0 8.1 10.0 6.1
53 IBXKET RN 7.6 25 1.1
54 IHFEREEET  [SERII(EHET) 75 3.2 1.0
55 FEEET |IHFERAET  |RE)IU\BEE) 13 26 0.8
56 IHEEREET  |NE)(FHET) 7.6 7.7 0.8
57 IHZKET BRI NEET 7.7 1.0K# 0.6
58 IB%KET (BN FEEET 1.7 1.0XK#E 0.6
59 IB%KET  [[THJII HAX—EERI 73 10.0 1.0
60 IHZEKET  |AXKEF)I BRAKE 73 2.9 1.1
61 IBZKET  [AKE) ttHEEHEET]| 74 3.7 0.6
62 FOKET |IBZEKET |[AHRII AHET 76 28 0.7
63 IHZKET  |AA)I REBET 75 6.1 1.0
64 IBZKE [EEN TEEFEHET] 75 4.1 0.8
65 [H= 0F0ET [F0{2)1 h2ERiE L 74 1.7 0.9
66 [B=pnF0MT |B5) Ei#s438E5MEmT| 75 17.0 1.8
67 IB=H0F08T |+ET)I| GEEHET 7.7 238 1.1
68 EX 1) EA) BEE 78 5.6 0.6
69 EEAr EHHET mEF) AKX 75 2.2 0.7
70 FRHET BRI fFEHE 15 1.1 0.6
71 e ) REN TRk 7.8 4.2 1.1




